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Motion (1)
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Motion (51f)
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Motion (51f)
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An object is released from 180m height. At the same time, another is thrown vertically upwards
with 60m/s velocity along the same line. When and where will they meet?
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A bullet hits a wooden plank with 500m/s velocity. After penetrating 15cm, the velocity reduces
to 250m/s. How much farther will it go before stopping?
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Impulse of force (d(e1d €19)
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Force (d<7)

Conservation of Momentum (ST ALTH) _k__
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The velocity of a marble is v. It hits a truck coming from the bpposite direction with velocity v. .-

If the collision is elastic, find their final velocities.
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Force (d<7)
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Work, power and energy (317, Nof 3 *fP) W%A \ D
Positive and negative work (4919[d 3 dI1[S 1 ) LUS%H /
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Work, power and energy (311, 5ot 3 *f3)
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A bullet can penetrate one wooden plank. If the velocity is doubled, how many planks can it
penetrate?
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Work, power and energy (317, 5ol 3 X&)
Emptying a well (31 ifet 1)




Work, power and energy (¥191, 4ot 3 X&) U
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A ct is falling from 30m height. Where will the kinetic energy be twice the potential energy?




Work, power and energy (1, 5ef 3 %) -
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Find the work done to make a pile of 20 bricks by putting one on top of another=Each brick has @ mass

of 2 kg and a height of 5¢cm.
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State of Matter and Pressure (S @a3f 3 51st) 'ij
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Effect of Heat on Matter (334 391d ©ITq F9Iq) oy
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The height of a waterfall is 100m. How much will the temperature of the water change while

A

falling to the ground? 1
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Effect of Heat on Matter (334 35 ©Itid Swiq) ﬁ
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What will happen if ”z kg ice ((ﬁ degree Celsius) is mixed with 1 kg water (10 degrees Celsius)?
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Waves and Sound (©d37 3 X[%1) ™

The speeds of sound through air and water are respectively K_
300m/s and 1500m/s. In case of the well shown in the picture,

e echo of a sound made at the mouth of the well is heard after
0.867 seconds later. Find the depth of the well.
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Refraction of Light (|IteTiq Sfestae) i;
Refractive index (SfSsas) U
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Refraction of Light (SIiTeig Sfesiad) Lﬁ
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Refraction of Light (STITeld Sfesiad)
Total Internal Reflection (Tf wosdlt Afewean)
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Static Electricity (f8q ©f&e) uﬁ
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Static Electricity (83 ©%e)




Current Electricity (5¢1 ©fGe)
Equivalent Resistance (9¢17 (d14) - Normal
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Current Electricity (5¢1 ©fSR)
Equivalent Resistance (9¢1 (d14)- Special
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Magnetic Effects of Current (Sf&teg ®o18s fear)
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Electronics (gf~aT)
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Which bulb will light up?
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